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The Analytical Writing Assessment consists of one writing task,
Analysis of an Argument, and your essay will be scored two times
independently. Essays are evaluated by college and university faculty
members from a variety of disciplines, including management
education, who rate the overall quality of your critical thinking and
writing. (For details on how readers are qualified, visit mba.com). In
addition, your response may be scored by an automated scoring
program designed to reflect the judgment of expert readers.



Mytﬁ ws- FACT

M - The first 10 questions are
critical and you should invest
the most time on those.

F - All questions count.

It is true that the computer-adaptive testing
algorithm uses the first 10 questions to
obtain an initial estimate of your ability;
however, that is only an initial estimate. As
you continue to answer questions, the
algorithm self-corrects by computing an
updated estimate on the basis of all the
questions you have answered, and then
administers items that are closely matched
to this new estimate of your ability. Your
final score is based on all your responses and
considers the difficulty of all the questions
you answered. Taking additional time on the
first 10 questions will not game the system
and can hurt vour abilitv to finish the test



Mithi v FACT

- It is more important to respond
correctly to the test questions
than it is to finish the test.

F - There is a severe penalty for
not completing the GMAT

exam.

If you are stumped by a question, give it

your best guess and move on. If you guess

incorrectly, the computer program will likely

give you an easier question, which you are

likely to answer correctly, and the computer

will rapidly return to giving you questions
our abili Q n't fini
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No.7

7.The intricate structure of the compound insect eye, having hundreds of miniature eyes
called ommatidia, help explain why scientists have assumed that it evolved
independently of the vertebrate eye.

(A) having hundreds of miniature eyes called ommatidia, help explain why scientists have
assumed that it

(B) having hundreds of miniature eyes that are called ommatidia, helps explain why
scientists have assumed that they

(C) with its hundreds of miniature eyes that are called ommatidia, helps explain
scientists’ assuming that they

(D) with its hundreds of miniature eyes called ommatidia, help explain scientists’
assuming that it

(E) with its hundreds of miniature eyes called ommatidia, helps explain why scientists
have assumed that it



EXBH

The sentence needs to be clear as to what has hundreds of
miniature eyes. The structure or the insect eye! Furthermore,
the singular subject intricate structure requires the singular
verb helps.



i libagiiy
vinlibs
A This wording misleadingly suggests that the intricate structure has miniature eyes, while the

correct subject of the predicate having is the compound insect eye. Subject-verb agreement is
violated.

B This wording misleads as in (A). Furthermore, the pronoun at the end of the underlined part of
the sentence should refer back to the compound insect eye, so it cannot be plural.

C The phrase helps explain scientists’ assuming correctly agrees with the subject structure. However,
it is nonstandard and awkward; the use of assuming with the possessive is unwarranted. Finally,
the pronoun at the end of the underlined part of the sentence should refer back to the
compound insect eye, so it cannot be plural.

D The subject structure and the verb help do not agree in number. As in (C), explain scientists’
assuming is verbose and awkward, and the use of the assuming with the possessive makes the
construction unnecessarily complex.

E Correct. The phrase with its hundreds correctly refers back to the compound insect eye. The
verb helps correctly agrees with the subject structure. Finally, the pronoun it correctly refers to
the singular noun the compound insect eye.



No.8

In late 1997, the chambers inside the pyramid of the Pharaoh Menkaure at Giza were closed to
visitors for cleaning and repairdue to moisture exhaled by tourists, which raised its humidity to such
levels so that salt from the stone was crystallizing and fungus was growing on the walls.

(A) due to moisture exhaled by tourists, which raised its humidity to such levels so that salt from the
stone was crystallizing

(B) due to moisture that tourists had exhaled, thereby raising its humidity to such levels that salt
from the stone would crystallize

(C) because tourists were exhaling moisture, which had raised the humidity within them to levels
such that salt from the stone would crystallize

(D) because of moisture that was exhaled by tourists raising the humidity within them to levels so
high as to make the salt from the stone crystallize

(E) because moisture exhaled by tourists had raised the humidity within them to such levels that salt
from the stone was crystallizing



EXBH

The phrase due to makes this causal sequence somewhat
ambiguous, seeming to suggest that the repairs were due to
humidity from visitors’ breath.



LT

A Due to is an imprecise expression of the causal connection between the tourists’
breath and the closing of the museum for cleaning; the singular pronoun its does not
agree with the plural antecedent chambers.

B It is not at all clear what the reference is for the pronoun its; fungus was
growing should be parallel to salt ... was crystallizing (not would crystallize) because it is
another effect of the humidity.

C The pronoun them seems to refer to tourists, which is nonsensical; the entire
construction is awkward and wordy; would crystallize is not parallel to was growing.

D Once again, them seems to refer to tourists; the entire construction is awkward,
wordy, and ambiguous; crystallize is not parallel to was growing.

E Correct. The causal sequence is clear, and them clearly refers to chambers.



No.9

In 1979 lack of rain reduced India’s rice production to about 4| million tons,
nearly 25 percent less than those of the 1978 harvest.

(A) less than those of the 1978 harvest

(B) less than the 1978 harvest

(C) less than 1978

(D) fewer than 1978

(E) fewer than that of India’s 1978 harvest



No.26

Tropical bats play important roles in the rain forest ecosystem, aiding in the
dispersal of cashew, date, and fig seeds;pollinating banana, breadfruit, and mango
trees; and indirectly help produce tequila by pollinating agave plants.

(A\) pollinating banana, breadfruit, and mango trees; and indirectly help produce
(B) pollinating banana, breadfruit, and mango trees; and indirectly helping to produce

(C)pollinating banana, breadfruit, and mango trees; and they indirectly help to
produce

(D)they pollinate banana, breadfruit, and mango trees; and indirectly help producing

(E) they pollinate banana, breadfruit, and mango trees; indirectly helping the
producing of



EXBH

Note that semicolons separate the members of the list,
leaving the commas to mark series of items within each
member of the list.



No.3 |

Unlike the conviction held by many of her colleagues that genes were relatively
simple and static, Barbara McClintock adhered to her own more complicated ideas
about how genes might operate, and in 1983, at the age of 81, was awarded a
Nobel Prize for her discovery that the genes in corn are capable of moving from
one chromosomal site to another.

(A) Unlike the conviction held by many of her colleagues that genes were
(B) Although many of her colleagues were of the conviction of genes being
(C) Contrary to many of her colleagues being convinced that genes were
(D) Even though many of her colleagues were convinced that genes were

(E) Even with many of her colleagues convinced of genes being



No.l |7

Gall's hypothesis of there being different mental functions localized in different
parts of the brain is widely accepted today.

(A) of there being different mental functions localized in different parts of the brain
is widely accepted today

(B) of different mental functions that are localized in different parts of the brain is
widely accepted today

(C) that different mental functions are localized in different parts of the brain is
widely accepted today

(D) which is that there are different mental functions localized in different parts of
the brain is widely accepted today

(E) which is widely accepted today is that there are different mental functions
localized in different parts of the brain



EXBH

Gall’s hypothesis is contained in the clause that different mental
functions are localized in different parts of the brain (noun +
marker that + content clause). A series of phrases provides
neither the same clarity nor grammatical correctness.



No.33

Because an oversupply of computer chips has sent prices plunging, the manufacturer
has announced that it will cut production by closing its factories for two days a
month.

(A) Because an oversupply of computer chips has sent prices plunging,
(B) Because of plunging prices for computer chips, which is due to an oversupply,

(C) Because computer chip prices have been sent plunging, which resulted from an
oversupply,

(D) Due to plunging computer chip prices from an oversupply,

(E) Due to an oversupply, with the result that computer chip prices have been sent
plunging,



EXBH

The clearest, most efficient way to express this sequence is
to present the events in chronological order, as they
occurred.

ARTE: FREIFF AN IR

A Correct. Events are presented concisely, in chronological
order.



No.48

It is called a sea, but the landlocked Caspian is actually the largest lake on Earth, which
covers more than four times the surface area of its closest rival in size, North America’s Lake
Superior.

(A) It is called a sea, but the landlocked Caspian is actually the largest lake on Earth, which
covers

(B) Although it is called a sea, actually the landlocked Caspian is the largest lake on Earth,
which covers

(C) Though called a sea, the landlocked Caspian is actually the largest lake on Earth, covering

(D) Though called a sea but it actually is the largest lake on Earth, the landlocked Caspian
covers

(E) Despite being called a sea, the largest lake on Earth is actually the landlocked Caspian,
covering



urlibsgi

A For these reasons and because Earth immediately
precedes which, the sentence appears to say, illogically, that

Earth covers more than four times the surface area of Lake
Superior.



No.|33

Last week local shrimpers held a news conference to take some credit for the
resurgence of the rare Kemp’s ridley turtle, saying that their compliance with
laws requiring that turtle-excluder devices be on shrimp nets protect adult sea
turtles.

(A) requiring that turtle-excluder devices be on shrimp nets protect
(B) requiring turtle-excluder devices on shrimp nets is protecting
(C) that require turtle-excluder devices on shrimp nets protect

(D) to require turtle-excluder devices on shrimp nets are protecting

(E) to require turtle-excluder devices on shrimp nets is protecting



EXBH

The clearest, most economical way to describe the laws in
question is to follow the word lawswith a present
participle requiring. To use an infinitive, to require, seems to
indicate that requiring these devices is the objective of the
laws, when in fact the objective is to protect the sea turtles.



No.127

Joan of Arc, a young Frenchwoman who claimed to be divinely inspired,
turned the tide of English victories in her country by liberating the city of
Orléans and she persuaded Charles VIl of France to claim his throne.

(A\) she persuaded Charles VIl of France to claim his throne

(B) persuaded Charles VIl of France in claiming his throne

(C) persuading that the throne be claimed by Charles VIl of France
(D) persuaded Charles VIl of France to claim his throne

(

E) persuading that Charles VIl of France should claim the throne



EXBH

Because this sentence consists of many parts, including lengthy
modifiers (a young Frenchwoman ... ; by liberating ... ), it is crucial to
make the basic structure of it—the subject and verbs of the main
clause—as clear and as concisely expressed as possible. Joan of
Arc is the subject, turned is the first verb of the main clause,
and persuaded is the second verb; so the sentence should be Joan ...
turned ... and persuaded. Inserting she before the second verb both
violates the parallelism and adds an unnecessary word.



No.l31

Although the term “psychopath” is popularly applied to an especially
brutal criminal, in psychology it is someone who is apparently incapable of
feeling compassion or the pangs of conscience.

(A\) it is someone who is

(B) it is a person

(C) they are people who are
(D) it refers to someone who is

(E) it is in reference to people

It ARRSHIRBAIERTERE?



No.l 15

Because there are provisions of the new maritime code that provide that even tiny islets can be the
basis for claims to the fisheries and oil fields of large sea areas. they have alread
stimulated international disputes over uninhabited islands.

(A) Because there are provisions of the new maritime code that provide that even tiny islets can be
the basis for claims to the fisheries and oil fields of large sea areas, they have already stimulated

(B) Because the new maritime code provides that even tiny islets can be the basis for claims to the
fisheries and oil fields of large sea areas, it has already stimulated

(C) Even tiny islets can be the basis for claims to the fisheries and oil fields of large sea areas under
provisions of the new maritime code, already stimulating

(D) Because even tiny islets can be the basis for claims to the fisheries and oil fields of large sea
areas under provisions of the new maritime code, this has already stimulated

(E) Because even tiny islets can be the basis for claims to the fisheries and oil fields of large sea areas
under provisions of the new maritime code, which is already stimulating



urlibsgi

B Correct. In this sentence, the new maritime code is clearly
the antecedent of it in the main clause and thus the subject
of has already stimulated.

D The referent of this is unclear.
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No.6

Diabetes, together with its serious complications, ranks as the nation’s third
leading cause of death, surpassed only by heart disease and cancer.

(A) ranks as the nation’s third leading cause of death, surpassed only

(B) rank as the nation’s third leading cause of death, only surpassed

(C) has the rank of the nation’s third leading cause of death, only surpassed
(D) are the nation’s third leading causes of death, surpassed only

(E) have been ranked as the nation’s third leading causes of death, only
surpassed



No. |3

There are several ways to build solid walls using just mud or clay, but the most
extensively used method has been the forming of bricks out of mud or clay, and, after
some preliminary air drying or sun drying, they are laid in the wall in mud mortar.

(A) the forming of bricks out of mud or clay, and, after some preliminary air drying or
sun drying, they are laid

(B) forming the mud or clay into bricks, and, after some preliminary air drying or sun
drying, to lay them

(C) having bricks formed from mud or clay, and, after some preliminary air drying or sun
drying, they were laid

(D) to form the mud or clay into bricks, and, after some preliminary air drying or sun
drying, to lay them

(E) that bricks were formed from mud or clay, which, after some preliminary air drying
or sun drying, were |



No.42

To develop more accurate population forecasts, demographers have to know a
great deal more than now about the social and economic determinants of fertility.

(A) have to know a great deal more than now about the social and economic

(B) have to know a great deal more than they do now about the social and
economical

(C) would have to know a great deal more than they do now about the social and
economical

(D) would have to know a great deal more than they do now about the social and
economic

(E) would have to know a great deal more than now about the social and
economic



EXBH

This sentence explains a hypothetical situation and therefore
calls for a conditional—or contrary-to-fact—construction,
because in order to more accurately predict population,

demographers would have to know more than they presently
know.



BRNF

Although schistosomiasis is not often fatal, it is so debilitating that it has
become an economic drain on many developing countries.

(A\) it is so debilitating that it has become an economic
(B) it is of such debilitation, it has become an economical
(C) so debilitating is it as to become an economic

(D) such is its debilitation, it becomes an economical

(E) there is so much debilitation that it has become an economical



No.22

Plants are more efficient at acquiring carbon than are fungi, in the form of
carbon dioxide, and converting it to energy-rich sugars.

(A) Plants are more efficient at acquiring carbon than are fungi,
(B) Plants are more efficient at acquiring carbon than fungi,

(C) Plants are more efficient than fungi at acquiring carbon,
(D) Plants, more efficient than fungi at acquiring carbon,

(E) Plants acquire carbon more efficiently than fungi,



No.40

The Organization of Petroleum Exporting Countries (OPEC) had long been expected to announce a
reduction in output to bolster sagging oil prices, but officials of the organization just recently
announced that the group will pare daily production by 1.5 million barrels by the beginning of
next year, but only if non-OPEC nations, including Norway, Mexico, and Russia, were to trim
output by a total of 500,000 barrels a day.

(A\) year, but only if non-OPEC nations, including Norway, Mexico, and Russia, were to trim output

(B) year, but only if the output of non-OPEC nations, which includes Norway, Mexico, and Russia, is
trimmed

(C) year only if the output of non-OPEC nations, including Norway, Mexico, and Russia, would be
trimmed

(D) year only if non-OPEC nations, which includes Norway, Mexico, and Russia, were trimming
output

(E) year only if non-OPEC nations, including Norway, Mexico, and Russia, trim output






No.| 14

Starfish, with anywhere from five to eight arms, have a strong regenerative ability, and if one
arm is lost it quickly replaces it, sometimes by the animal overcompensating and growing
an extra one or two.

(A) one arm is lost it quickly replaces it, sometimes by the animal overcompensating and
(B) one arm is lost it is quickly replaced, with the animal sometimes overcompensating and
(C) they lose one arm they quickly replace it, sometimes by the animal overcompensating,

(D) they lose one arm they are quickly replaced, with the animal sometimes
overcompensating,

(E) they lose one arm it is quickly replaced, sometimes with the animal overcompensating,



EXBH

In a conditional sentence if X, (then) Y, rhetorical flow is
enhanced by the two clauses sharing the same structure. If
one clause is passive, the other should be passive; if one
clause is active, the other should be active, too.
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No.l7

Sunspots, vortices of gas associated with strong electromagnetic activity, are visible
as dark spots on the surface of the Sun but have never been sighted on the Sun’s
poles or equator.

(A\) are visible as dark spots on the surface of the Sun but have never been sighted
on

(B) are visible as dark spots that never have been sighted on the surface of the Sun
(C) appear on the surface of the Sun as dark spots although never sighted at

(D) appear as dark spots on the surface of the Sun, although never having been
sighted at

(E) appear as dark spots on the Sun’s surface, which have never been sighted on



REXAE A TS E L

E This phrasing makes the sentence somewhat awkward and
unclear.



25

Neuroscientists, having amassed a wealth of knowledge over the past twenty years
about the brain and its development from birth to adulthood. are now drawing solid
conclusions about how the human brain grows and how babies acquire language.

(A) Neuroscientists, having amassed a wealth of knowledge over the past twenty years
about the brain and its development from birth to adulthood, are

(B) Neuroscientists, having amassed a wealth of knowledge about the brain and its
development from birth to adulthood over the past twenty years, and are

(C) Neuroscientists amassing a wealth of knowledge about the brain and its
development from birth to adulthood over the past twenty years, and are

(D) Neuroscientists have amassed a wealth of knowledge over the past twenty years
about the brain and its development from birth to adulthood,

(E) Neuroscientists have amassed, over the past twenty years, a wealth of knowledge
about the brain and its development from birth to adulthood,



ERM)LTE

This sentence introduces the subject (Neuroscientists), pauses to
explain what neuroscientists have accomplished in the past twenty
years, and then concludes by explaining what neuroscientists are
presently doing as a result of their past accomplishments. The
second part of the sentence—the explanation—interrupts the flow
of the sentence from the subject (Neuroscientists) to the predicate
(are now drawing solid conclusions ...); it should therefore be
bracketed by commas. The sentence construction should provide a
main verb for the subject neuroscientists.



120

The World Wildlife Fund has declared that global warming, a phenomenon most
scientists agree to be caused by human beings in burning fossil fuels, will create havoc
among migratory birds by altering the environment in ways harmful to their habitats.

(A) a phenomenon most scientists agree to be caused by human beings in burning fossil
fuels,

(B) a phenomenon most scientists agree that is caused by fossil fuels burned by human
beings,

(C) a phenomenon that most scientists agree is caused by human beings’ burning of
fossil fuels,

(D) which most scientists agreeaon as a phenomenon caused by human beings who
burn fossil fuels,

(E) which most scientists agree to be a phenomenon caused by fossil fuels burned by
human beings,



DT AN 2 It ==
X EEREXZBE T IE
A To be caused and in burning are wordy, awkward, and indirect.

B That is should immediately follow phenomenon, not agree.

C Correct. The phrase human beings’ burning is more economical than
constructions with prepositional phrases or relative clauses.

D The phrasing is wordy and indirect.

E The phrasing is wordy and the meaning is imprecise; it is not fossil fuels

that cause global warming—it is the burning of fossil fuels by humans.



No 107

While it costs about the same to run nuclear plants as other types
of power plants, it is the fixed costs that stem from building nuclear
plants that makes it more expensive for them to generate

electricity.

#2: The emphatic construction it is X that does Y (as in the
phrase it is Jane who knows the answer) should be used only when
there is a compelling reason to emphasize the doer of the action. In
this sentence, the emphatic construction is used without good
reason.










No.5

Of all the vast tides of migration that have swept through history, maybe none
is more concentrated as the wave that brought 12 million immigrants onto
American shores in little more than three decades.

(A) maybe none is more concentrated as

(B) it may be that none is more concentrated as

(C) perhaps it is none that is more concentrated than
(D) maybe it is none that was more concentrated than

(E) perhaps none was more concentrated than






No. |8

Warning that computers in the United States are not secure, the National
Academy of Sciences has urged the nation to revamp computer security
procedures, institute new emergency response teams, creating a special
nongovernment organization to takecharge of computer security planning.

(A\) creating a special nongovernment organization to take

(B) creating a special nongovernment organization that takes
(C) creating a special nongovernment organization for taking
(D) and create a special nongovernment organization for taking

(E) and create a special nongovernment organization to take



=A==

C Creating is not parallel to to revamp and institute; and is
needed in this series; to has the sense of in order to, but for
taking is neither precise nor idiomatic.

D In the construction create ... to take, the sense of to is in
order to; for taking is not idiomatically correct.






No.4

At the end of the 1930s, Duke Ellington was looking for a composer to assist him—someone
not only who could arrange music for his successful big band, but mirroring his eccentric
writing style as well in order to finish the many pieces he had started but never completed.

(A) someone not only who could arrange music for his successful big band, but mirroring his
eccentric writing style as well in order to finish

(B) someone who could not only arrange music for his successful big band, but also mirror his
eccentric writing style in order to finish

(C) someone who not only could arrange music for his successful big band, but also to mirror
his eccentric writing style in finishing

(D) that being someone who could not only arrange music for his successful big band, but
mirroring his eccentric writing style for finishing

(E) being someone not only who could arrange music for his successful big band, but mirror
his eccentric writing style as well, finishing



138

Most efforts to combat such mosquito-borne diseases like malaria and dengue have
focused either on the vaccination of humans or on exterminating mosquitoes with
pesticides.

(A) like malaria and dengue have focused either on the vaccination of humans or on
exterminating

(B) like malaria and dengue have focused either on vaccinating of humans or on the
extermination of

(C)as malaria and dengue have focused on either vaccinating humans or on
exterminating

(D)as malaria and dengue have focused on either vaccinating of humans or on
extermination of

(E) as malaria and dengue have focused on either vaccinating humans or exterminating
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NE LR AR

The laws of the European Union and of its member states must each
be clear, up to date, and all work well together.

A. Clear, up to date, and all

B. Clear and up to date, and they must all
C. Clear, must each be up to date, and

D. Clear, and each must be up to date and

E. Clear, be up to date, and have to
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